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Two identical charge, +Q and +Q, are fixed in space.  The  
electric potential (V) at the point X midway between the  
charges is: 
A)  Zero 
B)  Non-Zero 

+Q' +Q'
Point'X'

E=0'
V=?'

x'

V'

+Q' +Q'





Two charges, +Q and -Q, are fixed in space.  The  
electric field at the point X midway between the charges is: 
A)  Zero 
B)  Non-Zero 
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A'positive'and'negative'charge'are'held'a'distance'R'
apart'and'are'then'released.''
The'two'particles'accelerate'toward'each'other'as'a'
result'of'the'Coulomb'attraction.'''
As'the'particles'approach'each'other,'the'total'
potential'energy'of'the'system… 

A:'increases'''''' '''''B:'decreases''''''
C:'stays'the'same''''''D:'??'
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!  Potential'energy'of'a'system'of'particles:'

!  Defined'as'the'work'needed'to'assemble'a'
system,'starting'with'all'particles'at'infinity'

!  To'calculate,'start'with'one'particle,'and'bring'in'
the'rest'one'at'a'time'


